Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel

Please note that this particular pattern belongs to Written Instructions for full Flower Faerie / Angel)
Hookin’ to the Beat
and, as such, should not be used except for your own
personal use. You may sell the items you make from
this pattern, but not the pattern itself is not for
distribution of any kind!

The number of beads to be used for any particular colour will be shown in the box for that
colour together with the letter (ie 2A, 4G, etc.)

However, where a number/letter combo is shown in brackets such as (4A) or (2A), this
indicates that the beads should be woven together such as in the base round orin corner
herringbone stitches.

Number required for | Grams for 11/0 based on
full ornament 180 per gram
Colour A 925 5.2 grams
Colour B 810 4.5 grams
Colour C 680 3.5 grams
15/0 your choice of colour 381 1.2 grams
Gem Duos 6 not applicable
3mm pearl 22 not applicable
e 1large bead (at least 15mm) 1 not applicable

Colour

I would highly suggest You will be making:
using round seed * 5 bottom skirt petals
beads where possible » 5 top skirt petals
as this will help * 4 wings
maintain the soft e 1crown

features of the faeriej e 2arms
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Bottom Skirt
Make 5 Bottom Skirt Petals — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps
INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead)

SUx = Step Up designated number of beads

Round 3 — (4C) — PTT2 — 1B — 1B — (2B) — (2B) — (2B) — 1B — 1B (SU4)

Last bead
/ from R2

i "\ Round 1 - Thread 11C.
- PTT all 11 again.
Tie off and PTT one bead.

Round 2 - (4C) -1C-1C—Inc 1C-Inc 1C—-1C-1C (SU3)

k in this direction |
.. Wor 5
o I
Last bead _— )

f R1
GC CB rom : |

Previous row(s)

gC cg/ shown in cream
L colour
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Bottom Skirt
Make 5 Bottom Skirt Petals — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps

INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead)
SUx = Step Up designated number of beads

Round 4 - (4C) - PTT2—-(2B)-1B—-1B—-Inc1B—1B—-Inc 1B—1B—-Inc 1B—1B—-1B —(2B) (SU4)

(G Last bead
gg/fromR3
ce
Bcci
Qccl
Bjc|c|B
BECCQB
BC cs8
& NG =
@ C C m
& S 2
O il

2
Q.
o

clc.

Round 5 — (4C) — PTT2 — (2B) — PTT2 — (1B x 10) — PTT2 — (2B) (SU4)

ﬁou may find that as you puh

your thread tighter, the petal
starts to curl up — let it do just
that — it will give your Flower
Faerie / Angel more
character.

A tight tension is perfect for

k this pattern! /

Last bead
/ from R4

Cc|C
c|c
2ccf
Qcicd
EIEEE
BEEEEE
Blc/c)ciClE
Qe Tl
Bjicic(C/c|B
@l cl=@
%o E_Ec.mﬂ
D% 550
e/
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Bottom Skirt

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps
INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead)

SUx = Step Up designated number of beads

Round 6 — (4C) — PTT2 — (2B) = PTT2 — (2B) — 1B — 1B — (2B) — 1B — (2B) — 1B — (2B) — 1B — 1B — (2B) — PTT2 — (2B) (SU4)

ﬁou may find that as you puh

your thread tighter, the petal

starts to curl up — let it do just

that — it will give your Flower
Faerie / Angel more

o

character.

A tight tension is perfect for

this pattern! /
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C Last bead

Make 5 Bottom Skirt Petals — Herringbone & Peyote stitches used throughout
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Bottom Skirt
Make 5 Bottom Skirt Petals — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps
INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead)
SUx = Step Up designated number of beads

C Last bead
C /from R6
C

C
C
C

|
[

(ololololo[olo[olo[ofa]

Round 7 - (4C) — PTT2 — (2B) = PTT2 — (2B) = PTT2 — (1B X 3) = Inc 1B — (1B X 2) — Inc 1B — (1B X 2) — =

— Inc 1B — (1B X 3) — PTT2 — (2B) — PTT2 — (2B) (SU4)
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Bottom Skirt
Make 5 Bottom Skirt Petals — Herringbone & Peyote stitches used throughout

INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead) / from R7

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps Last bead
cl|c
SUx = Step Up designated number of beads cCC

Round 8 — (4C) — PTT2 — (2A) — PTT2 — (2A) = PTT2 — (2A) — (1A X 12) — (2A) — PTT2 — (2A) — PTT2 — (2A) (SU4)
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Don’t forget — keep your
tension tight as it gives an
excellent natural curl to the
petals!
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Bottom Skirt

Make 5 Bottom Skirt Petals — Herringbone & Peyote stitches used throughout @ Last bead
clc /from R8
PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps C C
INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead) E "E
SUx = Step Up designated number of beads Yol ral
p Up desig f > [ClCl<
> CC <
> CC <«
> cc<
Round 9 - (4C) — PTT2 - (2A) - PTT2 — (2A) - PTT2 - (2A) —PTT2 - (1AX 3) - (2A) - (1A X 2) = (2A) - —— > . CCa <
— EJ CISISIEIES
(1A X 2)—(2A) — (1A X 3) = PTT2 — (2A) — PTT2 — (2A) PTT2 — (2A) (SUA4) > @ CC m <
b A C A
ST EACIC) oo
,\‘ F @ w)C|Cla) m[<)
. A2 o C|Cl o S
’ - : 3‘243 cc ﬂﬂi
Don. t fo.rget - k.ee;.) your 3] AB B BJT[CE. BJBlA
tension tight as it gives an ' : A)B. EE__{C \KC;E_E B A
excellent natural curl to the L AlB B|B/C C/B|B BIA
e P o
petals! py <y AJB)(BJic\Cl(C/c)B/BJA
| ZiAzisc] |clai@iSls
f > o o G IClg male <
- TN 5/B/1B \o NNV,
| v el o t \ N
AR B Q> N
\/ &, B —P 0 \/
OO RBASY
N \fA‘ﬂ BFA\/ N\
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Bottom Skirt =

Make 5 Bottom Skirt Petals — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps

INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead)

SUx = Step Up designated number of beads

Round 10 — (3C) — PTT2 — (2A) — PTT2 — (2A) — PTT2 — (2A) = PTT2 — (2A) — e

— (1AX3)=Inc 1A= (1AX3) - Inc 1A= (1AX3) = Inc 1A= (1AX3) - —

— (2A) = PTT2 — (2A) — PTT2 — (2A) - PTT2 — (2A)>

< Next, weave your way back down to the open area of “C” beads ‘

(looks almost like a circle) and add 1 pearl / 1 “C” bead, go back
through the pearl and weave your way back to the last pair
of “A” beads added in Round 10. —

Sy
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Bottom Skirt

C
Make 5 Bottom Skirt Petals — Herringbone & Peyote stitches used throughout £
Startzip—» C/C
PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps beads > cc
INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead) fromhere > C C <
SUx = Step Up designated number of beads >|CICl<
> » CIC <
> > |CIC| <
>I2AClCl) <
. ZAZICICl) <
Zip side — (2A) — PTT2 — (2A) — PTT2 — (2A) — PTT2 — (2A) — PTT2 — (1A X 3)> > > @ CClm <
s weave i > > ®CCa <
Weave in thread and snip off) - > o CCa <«
< o - > >z clcha) <)<
Weave in t’allthread and snlp off if > > m® CC om<
you haven’t already done this. > > ®® CC o m<
>>®mccad <
2>\ [w) T|clahBALL
AlABIBTg T c BB BA
AlALB B C o clBABIALA
Alale)B|B|c]” TTc|B|B/B|A
AlAJB] BJiclc)(C/c) B BIIALA
> 120 To)c]  [Cllal @Rl
ZJ7) o e s 1Co) Ao le (T
> (5 ot =~ g @) <
VG HEIONACS
VIR AACH Y
VEINGEBONES
WV, 8B BT Ny
d/ ~/ ™~ pr\ \Y}
42 ) ALBTA e X
S~ \..zA--A b‘-‘P:v \”'/
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Bottom Skirt
Zipping the bottom petals together

Once all 5 petals are made, make sure that they are all facing the same way
so that a zip side is ready to join with a non-zip size

B vy

To join each side, weave in your thread and pass through any beads to get to the first
pair of “A” beads near the point of the petal (marked with a yellow dot).

Go back through the first pair of “A” beads to reinforce this zip join.

Go through this pair and attach the next petal by going through the first pair of
“C” beads (marked with a blue dot) — keep on zipping through a total of 8 pairs of
“A” beads and 5 single “A” beads ( dots) until you reach the last two beads.

Go back through the last two beads of this zip row and work your way back down the
petal to the point of the petal and weave your thread through to the next pair of
“A” beads (marked with a dot).

Add the next petal — repeat until all 5 petals are joined into a full circle of petals.

Page 10



Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Bottom Skirt
Adding “D” beads to the bottom skirt

Once all five petals are joined, pass your thread through Al flve pet?IS joned (topyicy)
beads until you get to the shown “A” bead at the start of
the petal curve

£ A}

[ /5 axal

Peyote (3D) x 8 across curve of petal

Peyote 1 Pearl where two petals meet — there should be a good sized gap
here for the pearl.




Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Bottom Skirt
Adding peyote rows to create height in order to add top skirt later

SSNE ETaE

Without dots...

F o A\ mms 1 [ Once all five petals are joined and you’ve already added
\ sy your “D” beads along the bottom of the skirt, either:

- weave in your thread and cut off

- or pass the thread through beads to get to the top of
any petal

Totally your choice and depends on how you prefer to
work.

All that is important is to end up at an “Up” “C” bead
ready to build some height (shown by yellow dot)

Peyote 5C and (SU1)
Repeat this for 5 more rows for a total of 6 rows

You may want to reinforce these rows with extra thread to
firm them up. Again personal choice.

Leave your working thread ready for attaching the top
skirt petals. Set piece to once side.

You should end up with 5 “Up” beads ready for zipping the
top skirt onto it later (marked with - dots).



Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Top Skirt
Make 5 Top Skirt Petals — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps

INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead)
SUx = Step Up designated number of beads

Round 1 - Thread 11C. Round 3 -(4B) - PTT2-1B-1B—(2B)—(2B) —(2B) — 1B — 1B (SU4)
PTT all 11 again. ' BB Last bead
Tie off and PTT one bead. j f/from R2
cc
cc
= C C o
Cc ccC
Round 2 — (4C) —1C—1C —Inc 1C —Inc 1C — 1C — 1C (SU3) B & 9 B
— C C

. - — cj(C

Workm this direction Sc ) B3]

Last bead C s
C|Ce— -'-

GC CB from R1 |

D C c Previous row(s)

3 cE cg/ shown in cream

pic (c L colour

0-9
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Top Skirt
Make 5 Top Skirt Petals — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps

INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead)
SUx = Step Up designated number of beads

Round 4 - (4B) - PTT2—-(2B)-1B—-1B—-Inc1B—1B—-Inc 1B—1B—-Inc 1B—1B—-1B —(2B) (SU4)

BB Last bead Round 5 - (4B) —PTT2 —(2B) = PTT2 — (1B x 10) — PTT2 — (2B) (SU4)
BB/ from R3 BB Last bead
B B B from R4
B B E E
@cce Ot
0.6 e ~ QEEE
BccB You may find that as you pull -6
BcctcB your thread tighter, the petal ® C/Ca
Ehéhr _-E’ B starts to curl up — let it do just B,ﬂ cc e B
B cc ccB that — it will give your Flower 5 Bcch .
i o Faerie / Angel more —C/C/\C|C A

Cl~4C
& S ;@ character. B:=
Wk —

0

o
o
Q.
o
W
1910
10
0
o)
(o™

A tight tension is perfect for = JE3

Sl 1S
los}
this pattern! o (O C | o
@ &,B B .o Q
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Top Skirt
Make 5 Top Skirt Petals — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps
INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead)
SUx = Step Up designated number of beads

A A  lastbead
A é/from R5
B B
B B
Round 6 — (4A) — PTT2 — (2A) - PTT2 - (2A) —1A—-1A—-(2A) — 1A —(2A) - 1A - (2A) — 1A - 1A —(2A) — PTT2 — (2A) (Su4) = E E %
> BB <
@ B B m
® BB @
> w ccas
2w [Clc Lok
BlBJc|c|BAE
You may find that as you pull Aol C[c)\c\ChBn
your thread tighter, the petal BlB/IC/ cBE
starts to curl up - let it do just AB cC CicBA
that — it will give your Flower 7‘—”-@9 ClchS ﬂ'im-"f’T
Faerie / Angel more > ;?/ S Eﬂz <
character. *’4 8 BE 5 ?le ?/;
e o — \

A tight tension is perfect for
this pattern!
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Top Skirt
Make 5 Top Skirt Petals — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps
INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead) A Last bead

>

SUx = Step Up designated number of beads A A / from R6
GG
& [
> S
Round 7 - (3A) - PTT2 = (2A) - PTT2 = (2A) - PTT2 = (1A X 3) = Inc 1A= (1A X 2) = Inc 1A= (1A X 2) = Inc 1A= (1AX3) — > BB <«
> B B <«
<> pTTz—(ZA)—PTTZ—(ZA)) > B B <
<l =)@ BB @A
Next, weave your way back down to the open area of “C” beads > »m BB o <
(looks almost like a circle) and add 1 pearl / 1 “C” bead, go back > @ C|C o =
through the pearl and weave your way back to the last pair > Cc ‘o <
of “A” beads added in Round 10.) B B - B B A
B B cc cic BA
(SU3 / PTT TOP BEAD / PTT1 DOWN OPPOSITE SIDE) s el
Blc) (clBiBlA
CcBA
@ C cllaoj(aja
» C=—C @ iq-
ST ~ N~
SAS B AN
4,8 8lg Tp T
/ ‘--.A ' e
4,0 s
. "’

Page 16



Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Top Skirt
Make 5 Bottom Top Petals — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps
INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead)

SUx = Step Up designated number of beads AéA
Start zi% A A
beads > A A
from here > BB <
Zip side - (2A) ~ PTT2 - (2A) - PTT2 - (2A) ~ (1AX2) —_ 2T E e
. . > > B E <
<Weave in thread and snip off) E\LE E =
'\/A Weave in tail thread and snip off if 2 ® BB o=
you haven’t already done this. 2 @ BB @ —
Tl wjc|c| o)L
21> Tlc) o
AlBEITcBABLA
AlAIBIciciclIClBA
BB cl TClBBIA
ATAB Gl Cle/B A
AD ©c cla @A
7%, S0 G m S
Don’t forget — keep your NS5, BB .o N
tension tight as it gives an s d/we Ble \P, \
excellent natural curl to the /5 ar\P
petals! -

W,




Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Top Skirt
Zipping the top petals together

Once all 5 petals are made, make sure that they are all facing the same way
so that a zip side is ready to join with a non-zip size

To join each side, weave in your thread and pass through any beads to get to the first
pair of “A” beads near the point of the petal (marked with a yellow dot).

Go back through the first pair of “A” beads to reinforce this zip join.

Go through this pair and attach the next petal by going through the first pair of “C” beads
(marked with a blue dot) — keep on zipping through a total of 5 pairs of “A” beads and 4 single “A” beads
until you reach the last two beads ( dots)

Go back through the last two beads of this zip row (to reinforce this join) and work your way back down
the petal to the point of the petal and weave your thread through to the next pair of “A” beads

(marked with a dot).

Add the next petal — repeat until all 5 petals are joined
(BUT DO NOT JOIN THE FINAL SIDE — LEAVE THIS OPEN!) page 18




Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Top Skirt
Adding top skirt to bottom skirt and adding “D” beads

Without dots...

Once your five top skirt petals or joined
(leaving out the final side), it should look
something like this:

« s

We are now going to make 4 wings at
the tip point of each wing will be
attached at the four green dots above.

You can either add each wing as you
make it or make all 4 and add them
when they are done.
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel

— Wings

Make 4 Wings — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps
INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead)
SUx = Step Up designated number of beads

r

Fe
Iy

e

Round 2 -

y 15

¢ Round1-Thread 11A.
PTT all 11 again.
Tie off and PTT one bead.

(4A) -

mWork in this direction

A
A
A
A A

Last bead
from R1

Round 3 - (4A) - PTT2 -1A-1A-
A A
A A
A A
A A
A AAA
AA AA
A A A A

AA AA

1A—1A—-Inc 1A—-Inc 1A—-1A-1A (SU3)

Previous row(s)
shown in cream
colour

N

(2A) -

(2A) -

Last bead
from R2

(2A) -

1A — 1A (SU4)

}
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Wings
Make 4 Wings — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps
INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead)

SUx = Step Up designated number of beads

Round 4 - (4B) - PTT2—-(2B)-1B—1B—-Inc1B—1B—-Inc 1B—1B—-1Inc 1B—-1B— 1B —(2B) (SU4)

(o9)
(o8]

Last bead
BB / from R3

»~

ool Ls | 'l.
>
>
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; ""
i -

i 2=

e

(2> (>>>
(> > (é[é[>
> >
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(88
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Al

Round 5 — (4B) — PTT2 — (2B) — PTT2 — (1B x 10) — PTT2 — (2B) (SU4)

K’ou may find that as you puh

your thread tighter, the petal
starts to curl up — let it do just
that — it will give your Flower
Faerie / Angel more
character.

A tight tension is perfect for

\\ this pattern! )

=11 Last bead
=5 from R4

B B
——
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Wings

Make 4 Wings — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps
INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead)

SUx = Step Up designated number of beads

Last bead
/ from R5
B B
B B
Round 6 — (4C) — PTT2 —(2C) - PTT2—-(2C)-1C-1C—(2C)-1C—-(2C)—-1C—-(2C)-1C-1C—(2C) - PTT2—(2C) (Su4) E E
BB
b CARE TR SR TIAALD
| : WAJAlQ
@ AA D
© IEREL
B Anranl
" vou mav i )  Elryrprent:
You may find that as you pull SANAS
your thread tighter, the petal G Y Y G Gy
starts to curl up - let it do just c EIINESEYYE
that — it will give your Flower mm AL L RS mﬂ
Faerie / Angel more gg‘%ﬂ " f‘.-fi"g
character. AT

A tight tension is perfect for

K this pattern! /
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Wings
Make 4 Wings — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps
INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead)
SUx = Step Up designated number of beads

Round 7 - (3C) — PTT2 — (2C) = PTT2 — (2C) = PTT2 — (1C X 3) — Inc 1C— (1C X 2) — Inc 1C — (1C X 2) — Inc 1C - (1C X 3) -
PTT2 — (2C) - PTT2 — (2C)

(SU3 /PTT TOP BEAD / PTT1 DOWN OPPOSITE SIDE)

@

Last bead
/fromRG
C C
cc
®EEE®
(o BEIE) O
O BB O
0 BB .oO
O N=RININEY ©
O IETNIIEY o
O oA AL B hS
Ol w | alalxhS
C Ehpyyerapytl]
B A AABE
‘EAA‘ A AE
ClB AR AABC
Bo >1x A<2@
Qo T S AT o
,49;\?" ”’%&7\
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Wings
Make 4 Wings — Herringbone & Peyote stitches used throughout

PTT2 = Pass Thread Through 2 beads (otherwise, you are only ever passing through one bead for all other steps

INC 1x = Increase / Add 1 bead between next two beads (means split the previous pair of beads to insert new bead) Cc
SUx = Step Up designated number of beads ccC
cCcC
ot -
o BB o
Round 8 — (2D) — PTT2 — (2D) — PTT2 — (2D) — (1D X 12) — (2D)}= PTT2 — (2D) — PTT2 — (2D) oJBlBlo
©o 8B OB
<Weave in thread and snip off) © o B B OB
O w AlA|0 L
'\/A Weave in tail thread and snip off if S @ AA@LD
you haven’t already done this. sl w AA 2B
.QB 2 )AL=
, ) ™ S A AN A S
Don. tforget— .eer.) your Dce AA A 53-9 D
tension tight as it gives an clBlalal MAalalBlc
excellent natural curl to the .'é- B AA AlA -BF? -.
petals! Cl® > A A <.@cC
4 Bos AT .
[Sire ;‘Z*.’i e f‘.:i’g 0,0
®. 5 AR @
N/ Cy BB O N
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Top Skirt
Adding top skirt to bottom skirt and adding “D” beads

Once your four wings have been added
(according to dots on Page 19), the top

skirt should look something like this:

Anchor the wings by any other beads you feel
necessary in order to secure them snugly and at
an angle you are happy with.

| also joined the first couple pairs of “D” beads
together in order add stability to the wings.

Page 25



Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Top Skirt
Adding top skirt to bottom skirt and adding “D” beads

Line up the top skirt “Up” beads (yellow dots) with the “Bottom” beads of the bottom skirt neck (green dots)
Then zip these two skirts together — this will be a bit fiddly!

Page 26

Once you've attached the top skirt to
the bottom skirt, zip the final side of
the top skirt petals together.

Note: You could leave the top skirt
open instead of zipping it closed. It
becomes more of a cape then.



Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Bottom Skirt
Adding top skirt to bottom skirt and adding “D” beads

Once all ten petals are joined, pass your thread through
beads until you get to the flrst “A” bead at the start of any
top skirt petal curve Y e A :

Peyote (3D) x 6 across curve of petal

Peyote 1 Pearl where two petals meet — there should be a good sized gap
here for the pearl. ~\
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — Arms

Adding arms to body

Weave your thread to a suitable place to add the arms — for me, this was as close to the middle of the top wings as
you can reasonably manage, but if you feel a different place works for you, feel free to do that instead. No hard
and fast rule here. Add:

* 16C beads / 1 or 2 pearls (your choice) / 16C beads

* Weave into the other side of the body in the same place

* Anchor by weaving through a few beads

* Work your way back to the arm and thread back through to the first pearl
* Anchor to body

* Go back to second pearl and thread back through to top of other arm.

If you feel you need to, then do this a second time to firm up the arms.
If you have enough thread left, weave back to the neck and set to one side so that we can make the crown.

If you don’t have enough thread left, then secure the end and snip. We can use extra thread from the crown
to secure the head instead.
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — The Crown & Head

Making the crown

Thread 6E to make a circle.
(these are your GemDuos)
(make sure your curved sides are
all facing the same way).

Thread through a second time to
firm them up, tie a knot and weave
your way to one of the lower holes
(yellow dot) and exit your thread to

the reverse side of the GemDuos

Add 3B

PTT next top hole of
GemDuo

Repeat all the way
around the crown

Su1

Inc 1B - Inc 1B
(green/white dots)

PTT GemDuo
PTT 1C

Su1

Peyote 1B

(Mwhite dots)

PTT all beads around
the crown to firm up.

Work your way back
to the centre and
through to the
bottom of the crown
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — The Crown & Head
Add the crown and head to the body

Weave a new thread to come out of one of the top two central
beads at the front of the top skirt (yellow dot)

Without dots...

Add your large bead (F)

Thread through the centre of the crown, add 1 pearl and go
back through the centre of the crown, the head and through
the next top central bead (- dot)

Thread back through the head/crown/pearl and back to neck
(several times, if you feel it necessary to stabilize the head)

& With dots...

Go back up to the top of the head bead
(but still underneath the crown) and add
13 to 15 “D” beads.

There should be enough beads to tilt the

head back but not too much) and secure

these beads to the centre of the neck at
the back of the body ( box).

Secure your thread end and snip.
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Hookin’ to the Beat — 3D Woodland Flower Faerie / Angel — All finished

She’s all done — now all you have to do is give her a name!
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